
Home » EXIT TOYS » EXIT TOYS EXIT Scala 500×200 Soccer Goal User Guide

Contents
1  EXIT Scala 500×200 Soccer
Goal
2  Product Information
3  Product Usage Instructions

3.1  Documents / Resources

EXIT Scala 500×200 Soccer Goal

Product Information

Product Name: Soccer Goal

Model: EXIT Scala 500×200

Product Code: MSP-430-V01

Product Usage Instructions

1. Assemble the soccer goal according to the provided diagram and

instructions.

2. Use the following components for assembly:

72.50.20.01: 3x

72.50.20.02: 4x

72.50.20.03: 3x

72.50.20.04: 4x

72.50.20.05: 2x

72.50.20.06: 2x

72.30.20.07: 2x

72.95.01.00: 2x

72.50.22.00: 4x

72.50.23.00: 2x

72.50.24.00: 2x

72.50.25.00: 4x

72.50.20.00: 1x

Sting: 1 pc

Manuals+ —  User Manuals Simplified.

EXIT TOYS EXIT Scala 500×200 Soccer Goal User Guide

https://manuals.plus/
https://manuals.plus/
https://manuals.plus/category/exit-toys


Logo: 2 pc

Hooks: 130 pcs

Detachable Hooks: 12 pcs

M8x25MM Screw: 56 pcs

Metal Washer: 60 pcs

Plastic Washer: 60 pcs

8X40MM Screw/Metal Washer: 4 sets

M8X30MM Screw: 4 pcs

M8 9 Screw/Metal Washer: 4 sets

5 mm Hexagon Wrench: 1 pc

4 mm Hexagon Wrench: 1 pc

13 mm Ratchet Spanner: 1 pc

72.90.50.20: 1x

D12 mm x H40mm Drilling: 1 pc

Suck out debris tool: 1 pc

M6x20MM Screw: 12 pcs

M6 Metal Washer: 12 sets

M8x12MM Screw: 4 pcs

M8 Plastic Washer: 4 pcs

Follow the provided diagram and instructions for proper

installation and use of the soccer goal.

Ensure that the red label in the upper left corner of the nets

is visible.

For safety, keep at least a distance of ~5cm from the goal

while using it.

View Fullscreen

https://manuals.plus/wp-content/plugins/pdfjs-viewer-shortcode/pdfjs/web/viewer.php?file=/m/44193dd8c9ebece8750e9b0128226abc441423387599984a15df7938dd48d368_optim.pdf&attachment_id=&dButton=true&pButton=true&oButton=false&sButton=true#zoom=auto&pagemode=none&_wpnonce=f1f02b5924


Soccer Goal
EXIT Scala 500×200
MSP-430-V01

EXIT Scala 500×200

/ /

MSP-430-V01

1

1
72.50.20.01 3x
2
72.50.20.02 4x
3
72.50.20.03 3x
4



72.50.20.04 4x

5

72.50.20.05 2x

6
72.50.20.06 2x
7
72.30.20.07 2x
C1
72.95.01.00 2x

C2

72.50.22.00 4x

C3
72.50.23.00 2x

C4

72.50.24.00 2x

Soccer Goal
EXIT Scala 500×200

C5
72.50.25.00 4x

N1
72.50.20.00 1x

N2
Sting 1 pc

N3
Logo 2 pc

H1

H2

Hooks 130pcs

Detachable Hooks 12pcs

S1
M8x25MM Screw 56pcs



S2 Metal Washer 60pcs S3 Plastic Washer 60pcs

S4 8X40MM Screw/Metal Washer 4sets
S5 M8X30MM Screw 4pcs
S6
M8 “9” Screw/Metal Washer 4sets
T1
5 mm Hexagon Wrench 1pc
T2
4 mm Hexagon Wrench 1pc
T3
13 mm Ratcher Spanner 1pc
72.90.50.20 1x

MSP-430-V01

2

1
H1 2
~14CM 3
4

12 x H1

7 x

H1

12 x H1

7 x

H1

1 C3
5 2

C5 1 C5

C5

6

2

C4 7
4
C2

3 C2



4

3

C1

C3 1
5 2
C5 6
2

C4 4 C2 4
3 C2

7 C1

MSP-430-V01

3

Soccer Goal
EXIT Scala 500×200

S2

1

C3

S3

S1

1

!
2

1 C3

2

C5

2

S1

2



C5

2

2

2

C4

C4

2

S1

C4

C3 1
2 2 C4

S1 C2 3
3

C1
S1

3

C2 3

C2 3

10

3

C1

MSP-430-V01

4

4 C2 S1
4
4 C2 4
4 3
4 3
C1



4 4
C1 3

S1

!

4

C1 3

1 C3
2
2
C4 4 4 C1

1 3

1 3

C3

2

2

S1

2

C4

4

C4

4

4

C1

3

MSP-430-V01

5

Soccer Goal



EXIT Scala 500×200

S6 5

6 S4

S1 C3 5

6

S5

C4

7

7

S5

S2
S3 S5

S1

C1

C3
5 6
C4
7
C1

H2 H2

H2

MSP-430-V01

6

Red label in the upper left corner of the nets H1
N1
H1
N2

MSP-430-V01

7



Soccer Goal
EXIT Scala 500×200

!

EN DE NL FR DA

MSP-430-V01

8

~100CM

~100CM

~100CM

~100CM

~100CM

~100CM

MSP-430-V01

9

Soccer Goal
EXIT Scala 500×200

Drilling: D12 mm x H40mm

Suck out debris

~100CM

~100CM

~100CM

~100CM

~100CM

~100CM

MSP-430-V01

10



S1 M6x20MM 12pcs

S2 M6 Metal Washer 12set

S3 M8x12MM 4pcs

S4 M8 Plastic Washer 4pcs

Extra

S2 S1
S2 S1
S1 S2
S4 S3

25KG

S1 S1
S2 S2
S2 S1

MSP-430-V01

11

Soccer Goal
EXIT Scala 500×200

~5CM

MSP-430-V01

~5CM
12

MSP-430-V01

13

Soccer Goal
EXIT Scala 500×200

MSP-430-V01

14

Documents / Resources



EXIT TOYS EXIT Scala 500x200 Soccer Goal  [pdf] User Guide
MSP-430-V01, EXIT Scala 500x200, EXIT Scala 500x200 Soccer Goal, Soccer Goal, Goal

Manuals+,

https://manuals.plus/m/44193dd8c9ebece8750e9b0128226abc441423387599984a15df7938dd48d368
https://manuals.plus/m/44193dd8c9ebece8750e9b0128226abc441423387599984a15df7938dd48d368_optim.pdf
https://manuals.plus/

	EXIT TOYS EXIT Scala 500×200 Soccer Goal User Guide
	EXIT Scala 500×200 Soccer Goal
	Product Information
	Product Usage Instructions
	Documents / Resources



